FEARXNBERER | UDC 621.05

B 4T 9 B ob ntme
Lock ring with screw f# GB 884—76

1 3|7

ArEERTER EEES ) HHr RS SURmEE.
AVERE T ARER = 8 ~200mmaiR T PR P4,

2 S| ARk
GB 959.3—864RR A Kk — VT
3 R+

BRI EE1986 -07 -0247% 1987 -06 - 0154



GB 884—86

mm
A
skER d D P . 4GB 71—85
. A _
EARSY | mEBRE | 2ART | BmeE (%)
8 10 20
9) +0.036 10
0 o 22
10 10 —0.36 M5 0.5 M5 x8
12 10
25
(13) 10
14 12 28
+0.043
(15) 0 12
30
16 12
17 12 M6 M6 x 10
32
18 12
(19) 12
35
20 12
3
2 +0.052 1z 0 ;
0 -0.43
25 14 42
28 14 45 M8 1 M3 x12
30 14 48
32 14 52
35 ‘ 16 56
+0.062
40 0 16 62 M10x 16
45 18 70
50 18 80 M1o
55 18 85
60 20 90 M1ox 20
+0.,074
65 0 20 0 95
~0.52
70 20 100 -
75 22 110
M12 M12 x 25
80 22 115




GB 884—86

gk mm
A S WEL: d H
A1 D 4 . | GB 71—85
WARY | BIMBE | EARY | mmEz )
85 . 22 120
| _ 1
90 2 125
95 25 130
100 +0.087 25 : 135
0
105 25 140
110 30 150
115 30 0 155 Mi2 1.5 Mi2x25
120 30 - 0.52 160
(125) 30 165
130 30 170
(135) 30 175
140 30 180
1 +o.1
0
(145) 30 190
150 30 200
160 30 210
, M12 x 30
170 30 220
180 30 230
2
10| 30 0
200 0 30 250

. RETREAR R FE S RAAE.
4 BR¥EHERGB 959.3—861 &
5 #Ric

WRRERd= 20mm $ KL G A3 R K i b FRAVIR ET BB PR AU AR I R
PEGB 884—86—20

3035488
ABRAE TR A LS SR URR 1) EBERH, e AUAR DL EBbRAE AL BT FEATIA0 .
A BRAE LB bR IS (R R, L AR )L L8 (T AR M B R AR 8
g, »



